











	۳J	EAT	YEARLY PURCHASES	TYPICAL SAVINGS PER PURCHASE	YEARL	
		Breakfast/Coffee	52 purchases	\$3	\$156	
		Lunch	24 meals	\$3	\$72	
		Dinner	52 meals	\$5	\$260	
		Pizza	24 purchases	\$8	\$192	
MEMBERS CAN RECOVER COST OF DUES	≙	SHOP			\$68	
		Apparel	8 purchases	\$15	\$120	
		Self-Care (Spa, Gym, Makeup, etc.)	6 purchases	\$15	\$90	
		Flowers/Gifts	4 purchases	\$10	\$40	
		Home Projects	2 purchases	\$50	\$100	
When used regularly, Access users can save		Oil Changes	4 services	\$10	\$40	
hundreds or even \$1,000+ per year		Misc. Shopping	8 purchases	\$12.50	\$100	
		Cell Phone Plan	1 purchase	\$125	\$125	
Members often report they saved enough to cover annual dues fees		DIAY				
		Theme Park/Attraction Visits	4 tickets	\$40	\$160	
		Bowling/Laser Tag/Mini Golf	4 purchases	\$5	\$20	
Recruiting tool for local ARs to speak about		Concerts/Sports/Event Tickets	4 tickets	\$20	\$80	
		Movies	6 tickets	\$3	\$18	
neighborhood retailers supporting	Golf		4 rounds	\$15	\$60	
"Education"	Ô	TRAVEL				
		Hotel Stays	7 nights	\$30	\$210	
COMMUNITY SUPPORTING COMMUNITY		Car Rental	5 days	\$27	\$135	
		Flights	2 tickets	\$20	\$40	
		TOTAL	SAVINGS: \$2	018	\$38	































SHOPPING & DISCOUNTS





Accessories	~	0.000			
Auto & Tires	~	Q Find a Store			
Baby & Toddler	~				
Clothing	~	Everyday Deal	Everyday Deal 3.5% Cash Back	Everyday Deal	Everyday Deal
Electronics	~	2% Cash Back	3.5% Cash Back	2% Cash Back	
Events & Entertainmen	it 🗸				
Food, Drinks & Restaur	rants 🗸				
Health & Beauty	~	1800 contacts'	pure \$	123inkjets	123 OFFICE
Home & Garden	~	Everyday Deal	Everyday Deal	Everyday Deal	Everyday Deal
Office Supplies	~	6% Cash Back	2.5% Cash Back	Up to 11% Cash Back	3.5% Cash Back
Pets	~				
Shoes	~				
Sports, Outdoors & Fitr	ness 🗸				
Digital Services & Strea	iming ~	(123RF)	127177EEN	👛 13 Deals	1 bäskets
Subscription Boxes & S	services 🗸	Everyday Deal	Everyday Deal	Everyday Deal	Everyday Deal
Toys & Games	~	2.5% Cash Back	4% Cash Back	2% Cash Back	5% Cash Back















NEA Travel Dollars 866.524.2807 MY ACCOUNT TRAVEL DOLLARS 2,200 nea Member 20 My Benefits Shop Travel Cruise Hotel Resort Air Car Tour Please Review your Selection (Change Car) Midsize SUV Base Rate \$202.14 Jeep Liberty or simila Make and model are no **NEA Members** Save 22% Travel Dollars -\$64.00 End ≗ x5 m x2 @ x2/4 ≉ A/C save 22% or \$64 Savings is based on using 64 Savings Ch off this car rental Fees & Taxes ≈ \$101.61 Thrifty TOTAL \$239.75 Automatic Transmission Unlimited mileage All Prices are quoted and charged in US Dollars, and your card will be charged at the time of booking. Drop-off: Thu: Nov 23, 2023, 10:00 AM 10255 West Zemke Road Pick-up: Mon, Nov 20, 2023, 10:00 AM 10255 West Zemke Road CHICAGO CHICAGO Car Rental Shuttle/In Terminal Car Rental Shuttle/In Terminal Proceed to Payment *Rates valid on 9/18/23 and may have changed **Nea** Member Benefits neamb.com/start

	el Dollars						
	11 Night Southern Caribbean Cruise 11 Night Southern Caribbean Cruise 11 Night Southern Caribbean Cruise 12 Jan 27, 2023 Ship: Odyssey of the Seas Nearing from: Reyrone (Caps Liberty) Returning to Reyrone (Cape Liberty), At Sea, At Sea, Suite From: \$2,562* Balcony From: \$2,163*	EXPLORE CRUISE		NEA Members save \$2,200 off this Oceanview stateroom with a balcon			
	Special Offers Available:	Minerary	- 2 - 3 -		Ny Benefits	Shop Travel Cruise Hotel Resort Air Car Tour	
Rates valid on 9/18/23 and may have changed		All rotes are in USD Passangers Passanger 1 Passanger 2	and valid as or 00/18/2023 at 10:3 Cruise Rate \$3.519.00 \$3.519.00	а для Талат & Feen. \$174.46 \$174.46	Total \$3693.48 \$3693.48	Cruss ID: IDD0307052 TH Nghis Carlobeas, Southern Jan W, 2025 - Jan 27, 2025 Cotypes of the Tees Ingred Enablese Cruss Taine Point Tuberrer (Carls Carly) Fass: Saverer Carls Tainty Sept Encody	
				NEA Trav	ota Price: \$5,186.96	Veur Cable 40 Octors Vistor Statussen with Biolony Scor Reen 2 Pleasengers Change Humber of Pleasengers	
				Find balance due 10/	05/2024 52,445,85	Frequently Asked Questions	
Nea Member Benefits		*Rates valid	on 9/18/23 and n	nay have chang	ged	neamb.com/s	







Visit neamb.com/start Life Insurance. Top Entertainment. **Getting Cash Back** Sa All Right Here. No Cost To You. Is Easy. Shop exclusive deals from over gible NEA members can get Members get up to 40% off tickets trusted life insurance protection to theme parks, attractions, concerts, sports, live events and 3,500 retailers, online stores, for their families, at no cost. restaurants and more with the NEA trave nea Member Benefits much more. Discount Marketplace! Confirm Beneficiar **Get Tickets** Shop Now nea Members Rakuten ebg neamb.com/start Step 1: Click "Get Tickets" **Nea** Member Benefits neamb.com/start

209







CTA Credit Union Services: Provident Credit Union

\$300 New Account Bonus

 $\checkmark\,$ Open a new membership with checking and earn \$300^1

Super Reward Checking

- ✓ Earns high dividends & ATM Rebates
- ✓ Access to 30,000+ free ATM's nationwide
- \checkmark No minimum balance or monthly fee

Low Rate Auto Loans

- Includes a 0.125% rate discount for CTA members
- ✓ Up to 100% financing of purchase price
- ✓ First payment deferred up to 90 days

Discounted mortgage rates

- ✓ No foreign transaction fee
- ✓ Includes a 0.125% rate discount for CTA members
- ✓ Applicable on Fixed and ARM products
- ✓ Applies to both purchases and refinances
- ✓ Save thousands over the life of the loan

¹Visit providentcu.org/cta for program details

213

CREDIT CARD FOR MEMBERS

NEA[®] Customized Cash Rewards Credit Card

Members receive:

- For a limited time: A member-exclusive online bonus offer of a \$250 Amazon.com Gift Card after making at least \$500 in purchases within the first 90 days of account opening (Students not eligible)
- ✓ Option to customize cash rewards by choosing to earn 3% cash back in one of 6 popular categories, 2% at grocery stores and wholesale clubs and 1% on all other purchases
- Earn 2% and 3% cash back on the first \$2,500 in combined choice category/grocery store/wholesale club purchases each quarter, then earn 1% thereafter

Learn more at <u>www.neamb.com/250</u>. Credit card offers may vary. Offers may not be available elsewhere This credit card program is issued and administered by Bank of America, N.A.























CTA & NEA MB Presentations & Webinars

Sessions:

- "Breaking News: CTA & NEA Member Benefits Overview"
- Tailored Sessions for Monthly Association Representative Meetings, topic area, etc.
- MB4U (Member Benefits For You)











My Engagement plan Key messages and themes (what's the breaking news?) Medium/Messenger (how're you going to get it in their head? Newsletter, e-mails, bulletin board, chapter website, social media, inperson?)



LIVE NEW	My Engagement Plan BREAKING NEWS: OUR ENGAGEMENT PLAN								
	What	When	Who	Resources	Marketing				



Share a great IDEA you liked... (or one of your own)



